RESULT NOTIFICATION

No. ECR / 13 / 01 / 2012

Dated:- 21/5/2012

The following student have successfully completed the course requirements for the degree of Master of Science (Forestry) evaluated through the course credit system of education and examination held in the month of October 2011. Therefore, in accordance with the provision of para No.33, read with para No.33 (A)(IV) of Regulation No. Ac/8 on approval of the Vice-Chancellor, they are declared eligible for the award of degree of Master of Science (Forestry). The minimum required Cumulative Grade Point Average to successfully complete the programme is 6.50 in 10.00 point scale.

MASTER OF SCIENCE (FORESTRY)

Sr.	Enrol.	Name of the Candidate and his guide	Subject of		Total	C.G.	Division	No.	Ref.
No	No.		specialization	Title of Dissertation	grade/	P.A.		of	of 'F'
					credit			'F'	Reg.
					points				
		Post Graduate Institute, Akola.							
1	HH/1613	Parab Abhijeet Laxman	Wood	SUITABILITY OF SAWDUST FROM	297.6/35	8.50	First with	R /1	4/1
		(Guide:- Dr. A. U. Nimkar)	Science and	HARDWOOD SPECIES FOR PREPARATION			Distinction		
			Technology	OF PRATICLE BOARD					
2	DD/963	Khot Sarika Gajanan	Eco-Tourism	IMPACT OF ECOTOURISM UNDER	274.6/35	7.85	First	Nil	7/1
		(Guide:- Prof. Y. B. Tayade)		GULLAR GHAT PROJECT ON LIVELIHOOD					
				OF THE PEOPLE					

Registrar Dr. Panjabrao Deshmukh Krishi Vidyapeeth, Akola

RESULT NOTIFICATION

No. ECR / 13 / 02 / 2012

Dated:- 03/07/2012

The following student have successfully completed the course requirements for the degree of Master of Science (Forestry) evaluated through the course credit system of education and examination held in the month of October 2011. Therefore, in accordance with the provision of para No.33, read with para No.33 (A)(IV) of Regulation No. Ac/8 on approval of the Vice-Chancellor, they are declared eligible for the award of degree of Master of Science (Forestry). The minimum required Cumulative Grade Point Average to successfully complete the programme is 6.50 in 10.00 point scale.

MASTER OF SCIENCE (FORESTRY)

Sr.	Enrol.	Name of the Candidate and his guide	Subject of		Total	C.G.	Division	No.	Ref.
No	No.		specialization	Title of Dissertation	grade/	P.A.		of	of 'F'
					credit			'F'	Reg.
					points				
		Post Graduate Institute, Akola.							
3	DD/961	Kokane Sangita Anandrao	Eco-Tourism	RESOURCE MAPPING AND SOCIO-	279.2/35	7.98	First	Nil	8/1
		(Guide:- Shri. H K Deshmukh)		ECONOMIC SURVEY OF JOINT FOREST					
				MANAGEMENT VILLAGE IN AKOLA					
				DISTRICT					
4	HH/1614	Naik Mayur Manohar	Plantation	STUDIES ON DIFFERENT SEED	286.5/36	7.96	First	Nil	10/1
		(Guide:- Dr. V. P. Mane)	Technology	TREATMENTS FOR ENHANCING					
				GERMINATION IN ANJAN (Hardwickia					
				<i>binata</i> Roxb.)					
5	BB/50	Rathod Roshan Pradip	Plantation	EFFECT OF PRE-SOWING TREATMENTS	304.1/36	8.45	First	R/1	11/1
		(Guide:- Shri. S.W. Choudhari)	Technology	ON GERMINATION AND VIGOUR OF					
				SIMAROUBA (Simarouba glauca DC.)					
6	DD/966	Wankhede Shrikant Jagnnath	Plantation	EFFECT OF GRWOTH HORMONES FOR	281.9/36	7.83	First	R /1	12/1
		(Guide:- Shri. S. W. Choudhari)	Technology	THE PROPAGATION OF NEEM (Azadirachta					
			20	indica A. Juss) THROUGH BRANCH					
				CUTTING UNDER AKOLA CONDITION					

RESULT NOTIFICATION

No. ECR / 13 / 03 / 2012

The following student have successfully completed the course requirements for the degree of Master of Science (Forestry) evaluated through the course credit system of education and examination held in the month of August 2011. Therefore, in accordance with the provision of para No.33, read with para No.33 (A)(IV) of Regulation No. Ac/8 on approval of the Vice-Chancellor, he is declared eligible for the award of degree of Master of Science (Forestry). The minimum required Cumulative Grade Point Average to successfully complete the programme is 6.50 in 10.00 point scale.

MASTER OF SCIENCE (FORESTRY)

Sr. No	Enrol. No.	Name of the Candidate and his guide	Subject of specialization	Title of Dissertation	Total grade/	C.G. P.A.	Division	No. of	Ref. of 'F'
			-		credit			'F'	Reg.
					points				
		Post Graduate Institute, Akola.							
7	BB/62	Bhamare Amit Sharadrao	Forest	EFFECT OF CHROMIC ACID AS WATER	273.1/36	7.59	First	R /1	68/42
		(Guide:- Shri. S. M. Khachane)	Biology and	REPELLING WOOD PRESERVATIVE ON					
			Tree	MANGO (Mangifera indica L.) and					
			Improvement	MAHARUKH (Ailanthus excelsa Roxb.)					

Registrar Dr. Panjabrao Deshmukh Krishi Vidyapeeth, Akola

Dated:- 10/07/2012

RESULT NOTIFICATION

No. ECR / 13 / 04 / 2012

Dated:- 31/07/2012

The following student have successfully completed the course requirements for the degree of Master of Science (Forestry) evaluated through the course credit system of education and examination held in the month of October 2011. Therefore, in accordance with the provision of para No.33, read with para No.33 (A)(IV) of Regulation No. Ac/8 on approval of the Vice-Chancellor, she is declared eligible for the award of degree of Master of Science (Forestry). The minimum required Cumulative Grade Point Average to successfully complete the programme is 6.50 in 10.00 point scale.

MASTER OF SCIENCE (FORESTRY)

Sr. No	Enrol. No.	Name of the Candidate and his guide	Subject of specialization	Title of Dissertation	Total grade/ credit	C.G. P.A.	Division	No. of 'F'	Ref. of 'F' Reg.
		Post Graduate Institute, Akola.			points				
8	Z/160	Ku. Swati Rameshwar Shirsat (Guide:- Dr. A. U. Nimkar)	Wood Science and Technology	EVALUATION OF CANDIDATE PLUS TREE OF <i>Acacia nilotica</i> (L.) WILLD FOR PHYSICO–CHEMICAL CHARACTERISTICS OF WOOD		7.73	First	Nil	5/1

Registrar Dr. Panjabrao Deshmukh Krishi Vidyapeeth, Akola

RESULT NOTIFICATION

No. ECR / 13 / 05 / 2012

Dated:-11/10/2012

The following student has successfully completed the course requirements for the degree of Master of Science (Forestry) evaluated through the course credit system of education and examination held in the month of September 2012. Therefore, in accordance with the provision of para No.33, read with para No.33 (A)(IV) of Regulation No. Ac/8 on approval of the Vice-Chancellor, he is declared eligible for the award of degree of Master of Science (Forestry). The minimum required Cumulative Grade Point Average to successfully complete the programme is 6.50 in 10.00 point scale.

MASTER OF SCIENCE (FORESTRY)

Sr. No	Enrol. No.	Name of the Candidate and his guide	Subject of specialization	Title of Dissertation	Total grade/ credit points	C.G. P.A.	Division	No. of 'F'	Ref. of 'F' Reg.
		Post Graduate Institute, Akola.			-				
9	II/1938	Rajesh Kumar Meena		EVALUATION OF PHYSICO-CHEMICAL	268.3/35	7.67	First	R/1	23/1
		(Guide: - Dr. A. U. Nimkar)	and	PROPERTIES OF TEAK (Tectona grandis L.)					
			Technology	WOOD FROM DIFFERENT PROVENANCES					

Registrar Dr. Panjabrao Deshmukh Krishi Vidyapeeth, Akola